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ATET= 13397 :
fHETfeTRad f+aeTl &1 51ga aradT1 8 ieq 3R 371 %ed] @ UIet #iforg :

(i) SHYHFIAHI8THE | QU I TfAard & |

(i) IEIH-GAIAEGUE H [A9TfGda— &, @, 7,906 F |

(iii) TUS & H Y97 €& 1 9 18 7% sglashedid (MCQ) a1 I3 H&1 19 T 20 Hha Tq
e ST 1 3% % T 8 |

(lv) WUS @ H YT GET 21§ 25 T 3fd 73T (VSA) TFR & 2 3 & TH 8 |
(v)  TUSTH Y G126 § 31 7% TY-I90 (SA) YhR % 3 37l & I & |

(vi) TWUBY Y YT GEIT 329 35 A% a1H-39UF (LA) JFR & 5 3kl #9738 |

(vii) TUZ T § Y97 G&IT 36 G 38 TF JHIUT I HTENT 4 37l & 7 & | Jcdk R
77T H S7TdRF faheq 2 37l & G917 AT TR 2 |

(viii) I¥9-97 H GHY faheq &l G =T 8 | JeIf, @ve @ 2 Y91 4, @US T 2 Y91 §, @IS g
% 2 991 7 a1 @UE € & 3 Y91 H 3Hdlek faeheq 1 19+ RIT T 2 |

(ix)  ST81 STEYTF &l =S ATFIGIT ST | STET SETIF & 1 = % fsre, afa 3=y 7 faar
TATE |

G eremE s At

U &
59 @UE 4 20 Fglawedid 337 (MCQ) €, for7H Yok 97 1 HF H1 2 | 20x1=20
1. 3R 7cos?0+3sin20=4 8 NOFAAE:

(A 30°

(B) 45°

(C) 60°

(D)  90°
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General Instructions :

Read the following instructions very carefully and strictly follow them :

(i) This question paper contains 38 questions. All questions are compulsory.
(it)  This question paper is divided into five Sections — A, B, C, D and E.

(iti) In Section A, Questions no. 1 to 18 are multiple choice questions (MCQs)
and questions number 19 and 20 are Assertion-Reason based questions of
1 mark each.

(iv) In Section B, Questions no. 21 to 25 are very short answer (VSA) type
questions, carrying 2 marks each.

(v) In Section C, Questions no. 26 to 31 are short answer (SA) type
questions, carrying 3 marks each.

(vi) In Section D, Questions no. 32 to 35 are long answer (LA) type questions
carrying 5 marks each.

(vii) In Section E, Questions no. 36 to 38 are case study based questions
carrying 4 marks each. Internal choice is provided in 2 marks questions in
each case study.

(viii) There is no overall choice. However, an internal choice has been provided
in 2 questions in Section B, 2 questions in Section C, 2 questions in
Section D and 3 questions in Section E.

. : : 22 :
(ix) Draw neat diagrams wherever required. Take T = - wherever required,
if not stated.

(x) Use of calculator is not allowed.

SECTION A

This section has 20 Multiple Choice Questions (MCQs) carrying 1 mark each.

20x1=20
1. If 7 cos? 6 + 3 sin? 0 = 4, then the value of 0 is :
(A 30°
(B)  45°
(C) 60°
(D) 90°
30/2/1 # 3| Page T P.T.O.



2. 1Y 30T hl GEATS H & Ueh AT (ehTel U Ueh GH TSI GE&AT 3T shi IR &
1
(A) 30
4
(B) 15
7
(C) 30
D) o
3. % femma wfieRter fSraes we 7 qe % €8
(A) 7x2-50x+7=0
B) 7x2-50x+1=0
(C) 7x2+50x—T7=0
D) 7x2+50x—1=0
4. I BI-U-DIE HEAT S T IO T HEAT & SR 16, 20 TAT 50 Tk 6 IA 8, 7
(A) 1200
(B) 100
(C) 3600
(D) 2400
5. I % Ueh A oh &l B oh a3k (5, — 2) AT (5, 2) & | IA I AT HI @ 2
(A) =2 B =zx4
C) 4 (D) 2
6. Tig(=5,0), (5 070, 4T F ML, TWRTH:
(A)  EHHI By
(B)  wHfsag Byt
(C) wHeg Brst
(D) forwag Brygst
30/2/1 # 4| Page By



2. The probability of drawing an even prime number out of numbers from
1to 30is:
1
A il
(A) 30
4
B il
(B) 15
7
C !
(C) 30
(D) 0
3. The quadratic equation whose roots are 7 and % is:
(A)  7x2-50x+7=0
B) 7x2-50x+1=0
(C) 7x2+50x-7=0
(D) 7x2+50x-1=0
4, The least number which is a perfect square and is divisible by each of
16, 20 and 50, is :
(A) 1200
(B) 100
(C) 3600
(D) 2400
5. The coordinates of the end points of a diameter of a circle are (5, — 2) and
(5, 2). The length of the radius of the circle is :
(A =2 B) =4
C) 4 D) 2
6. The points (- 5, 0), (5, 0) and (0, 4) are the vertices of a triangle which is
a/an :
(A) right-angled triangle
(B)  isosceles triangle
(C)  equilateral triangle
(D)  scalene triangle
30/2/1 # 5| Page T P.T.O.



7. @ T A 6, RS 99 % foig L W wei-w@n @ 9ur MN I9 #1 =w € | Ak
ZNML=30°%,d £ RLM 2 :
(A 30° (B) 60°
(C) 90° (D) 120°
8. @7 &AW, PQ||BC® I3 ‘;—g = % TAMAC =204 cm e, AMAQ P AT R :
A
p Q
B C
(A) 2:8cm (B) 58cm
(C) 38cm (D) 48cm
9. fmafafaga oo Taas?
(A) U SATHAAT Gad HHET el § |
(B) | &%l I To ol AT U HH=IQ Hed HH&T 81 ¢ |
(C) 21 EwTg Brs Hod THET B4 & |
(D) 31 EFEY PRl ol GaiTae g1 STaws el © |
30/2/1 # 6| Page By



7. In the given figure, RS is the tangent to the circle at the point L. and MN
is the diameter. If £~ NML = 30°, then £~ RLM is :
(A)  30° (B)
(C)  90° (D)
. AP 4
8. In the given figure, PQ||BC. If PB - 13 and AC = 204 cm, then the
length of AQ is :
B C
(A) 2-8cm (B)
(C) 38cm (D)
9. Which of the following statements is incorrect ?
(A) Two congruent figures are always similar.
(B) A square and a rhombus of the same area are always similar.
(C) Two equilateral triangles are always similar.
(D) Two similar triangles need not be congruent.
30/2/1 # 7| Page P.T.O.



10. 4004 = STV UGS H, SIS [UFEUE! o HTdieh! Sl TNTHA & :
A 5
(B 4
C) 3
(D) 2
11. U fshohe B o, Ush Sociellsl Wl TS 42 Tiel § 8 7 9R T8¢ {82 dT § | STeh! a1sg]
fee T T ailRerar @
1
(A) -
2
(B) =
5
(C) A
1
(D) s
12. 3G T 9 JARR U 1 9ia SR Brsaavel | foviisa foram Sie, af s
BaEvs = S v EAT
(A) 60°
(B) 90°
(C) 45°
(D) 72°
13. AR sin 30° tan 45° = °¢%0° & FrFum .
(A 4
(B) 3
Cc) 2
(D) 1
30/2/1 # 8 Page B



10. The sum of the exponents of prime factors in the prime factorisation of

4004 is :
(A 5
B) 4
C 3
(D) 2

11. In a cricket match, a batsman hits the boundary 7 times out of the
42 balls he plays. The probability of his not hitting a boundary is :

@
(B) %
(©) g
™

12. If a large circular pizza is divided into 5 equal sectors, then the central
angle of each sector will be :

(A) 60°

(B) 90°

(C) 45°

(D) 72°

. sec 60° .

13. If sin 30° tan 45° = , then the value of k is :

A) 4

B 3

) 2

D) 1
30/2/1 # 9| Page 2 P.T.O.



14. FHHO x — y = 0 gRT U o W
(A) x-3TT & GHIAL &
(B)  y-378T & THIGL &
(C) Ho-fgUTsarTe
(D) fig(3, 2)@TsaT
15. wﬁté@?aﬁ,g,l—,...aﬂloﬁw%:
472 4
11
(A) <
4
(B) 11
13
(C) i
4
(D) 13
16. ARTEIRpx) =x2—x— (2 + 2k) FTHIIF - 48, WL FIAAR ;
A 3 B 9
(C) 6 D) -9
17.  x-3F&1 o A1 qAT 3 TS T g W x-37&T o HHIAK TF T h1 Ffishaor @
(A) x=3
B) x=-3
(C) y=-3
(D) y=3
18. 40, 110 3R 360 w1 H.H. (HCF) ? :
(A) 40 (B) 110
(C) 360 D) 10
30/2/1 # 10| Page



14. The line represented by the equation x—y =0 is:

(A)
(B)
(C)
(D)

parallel to x-axis

parallel to y-axis

passing through the origin
passing through the point (3, 2)

15. The 10th term of the AP

(A)

(B)

(C)

(D)

5, =, 2, L s
472" 4
11
4
11
4
4
13

16. If—4is a zero of the polynomial p(x) = x2 — x — (2 + 2k), then the value of

kis:

(A)
(®)

(B)
(D)

9
-9

17. The equation of a line parallel to the x-axis and at a distance of 3 units

below x-axis is :

(A)
(B)
(C)
(D)

X =3
x=-3
y=—-3
y=3

18. The HCF of 40, 110 and 360 is :

(A) 40 (B) 110
(C) 360 (D) 10
30/2/1 # 11| Page T P.T.O.



99 &I 19 3K 20 AfYFHYT TF 9% 9T I3 & | 1 %97 a8 78 & 5799 T Fi
STI9H (A) A1 A 1 T (R) SR e Toha1 711 € | 39 J%1 o Wl I A1 1T 71 il
(A), (B), (C) 31 (D) ¥ & A A |
(A) TR (A) 3R T (R) SHT G & 3T o (R), AR (A) it Tt e
FATR
(B)  fueRe (A) 3R @ (R) IH1 ®El €, W @ (R), 30T (A) T wet
IRTT F&T AT 2 |
(C) AR (A) @&l 8, T o (R) el & |
(D)  3firERe (A) TTAd &, Wq @ (R) T & |

19. 3YFIT(A): GA AN :5,1,-3,—7, ... FIHEIA 42 |

@ (R) - HIT AT : ay, ag, ag, ..., a, F @ AR d = a_, —a,_; T I
ferar ST 2 |

20.  3THYH (A): g GHIHT I px + 3y + 59 = 0 TAT 2x + 6y + 118 =0
N T Y 3w s em, A p=1¢8 |

T (R) : Ife Raes FHIT IH px + 3y + 19 = 0 T 2x + 6y + 157 = 0
FIUF AT g e, dp= 17|
LCLCRCH
¥ GUS H 5 37fd TH-3T0 (VSA) TR & T4 8, 574 Jedleh & 2 3% & | 5x2=10

21. IR p TAT q, T893 p(y) = 21y2 —y — 2 F YF 8, A (1 — p) . (1 — q) FT AF 1@
Fifsre |

22. (%) @S SATH(A H, Th S o UL H1 T QAT T & S Th I o HSaES &
TR T &, ST&T 9 ol hg O TAT £ AOB = 90° 2 | A AO = OB = 42 cm
2, T 397cT o 36 S 9T o1 GRATY T ShIfSTT |

AT
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Questions number 19 and 20 are Assertion and Reason based questions. Two
statements are given, one labelled as Assertion (A) and the other is labelled as
Reason (R). Select the correct answer to these questions from the codes (A), (B),
(C) and (D) as given below.
(A) Both Assertion (A) and Reason (R) are true and Reason (R) is the
correct explanation of the Assertion (A).

(B) Both Assertion (A) and Reason (R) are true, but Reason (R) is not
the correct explanation of the Assertion (A).

(C) Assertion (A) is true, but Reason (R) is false.
(D) Assertion (A) is false, but Reason (R) is true.

19. Assertion (A) : Common difference of the AP:5,1,—-3,-7, ... is 4.
Reason (R): Common difference of the AP : a,, a,, a3, ..., a,, is obtained
byd=a,—a__;.

20. Assertion (A) : The pair of linear equations px + 3y + 59 = 0 and
2x + 6y + 118 = 0 will have infinitely many solutions if

p=1.

Reason (R): If the pair of linear equations px + 3y + 19 = 0 and
2x + 6y + 157 = 0 has a unique solution, then p = 1.

SECTION B

This section has 5 Very Short Answer (VSA) type questions carrying 2 marks
each. 5x2=10

21. If p and q are zeroes of the polynomial p(y) = 21y2 — y — 2, then find the
value of (1-p).(1-q).

22. (a) In the given figure, the shape of the top of a table is that of a sector
of a circle with centre O and £ AOB = 90°. If AO = OB = 42 cm,
then find the perimeter of the top of the table.

OR

30/2/1 # 13| Page v P.T.O.



(@) 9 7S 3R H, 5 cm BSAT A0l 99 o 019 Bsa@vet i SHifehRd o T &,
STt g 9T 35°, 50° AT 95° % hI0T oFT & & | SRR &5 s &5hel JTd
AR [ = 22 v i)

O 1 2
23. I tan A =3 ¥; &l A T =T H0T &, /¥ —— ?A 1 HTH 1 T |
1+ cos

24. (%) S K H, A ABC 1 ST BC W fsig D 36 ¥R 2 fo £ ADC = £ BAC
2 | g91fgu fh CA2 = CD . CB.

A
B D C

AT
(@ & TS AR H, OA.OB=0C.OD ® | a quMsC fF L A= £ Cau
/B=/D?
C
A
0
D
B
30/2/1 # 14| Page By
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(b)  In the given figure, three sectors of a circle of radius 5 cm, making
angles 35°, 50° and 95° at the centre are shaded. Find the area of
the shaded region. [Use n = %]

23. If tanA=\/§; where A is an acute angle, then find the value of
sin? A
1+cos? A

24. (a) In the given figure, D is a point on the side BC of A ABC such that
Z ADC = £ BAC. Show that CA%Z = CD . CB.

A
B D C

OR
(b)  In the given figure, OA . OB = OC. OD. Show that £ A =2 C and
£ZB=2«D.

C

A

O

D

B
30/2/1 # 15| Page T P.T.O.



25. 10 cm PISAT ATt Th I o Teh A1 AB o foig A W XAY Th Tqzi-ten =i T € |
fsig AW 16 cm %1 gl TXY o I SaT CD =l &elTg ST Al |

N

S
o

v

Qus T

59 GUS H 6 Y-S (SA) YR & 574 8, [o17H Il & 3 3 3 | 6x3=18

26. (F) g HINC TR et o o aieTd Siat Sqs Tk e BT S |
aTqAT

(@) forg shifsre fon feorelt amer foig @ forelt o 0@ @i 7€ <1 wqwi-veneti o st 6
10T, T3 foig AT shi T aTel WarEvs gRT < 0 S shior st HyLeh 2
gl

27.  (F) ﬁaaaﬁﬁq%ﬁ;[u 1 Mu 1 j= 1

cot? 0 sin20 —sin% 0

HAAT

@) mm%ﬁ:\/cosecé)—l +\/cosec9+1 — 9 500 0

cosecO +1 cosecO —1

30/2/1 # 16| Page By



25. At point A on the diameter AB of a circle of radius 10 cm, tangent XAY is
drawn to the circle. Find the length of the chord CD parallel to XY at a

distance of 16 cm from A.

P O

C
B< 10 ecm A

D

SECTION C

This section has 6 Short Answer (SA) type questions carrying 3 marks each. 6x3=18

26. (a) Prove that the parallelogram circumscribing a circle is a rhombus.

OR

(b)  Prove that the angle between the two tangents drawn from an
external point to a circle is supplementary to the angle subtended
by the line-segment joining the points of contact at the centre.

27. (a) Prove that: |1+ 12 1+ 12 = 5 1 1
tan“ 0 cot” © sin“ 6 —sin~ 0

OR
(b) Prove that : M + M =2secH
cosecH +1 cosecH —1
30/2/1 # 17| Page T P.T.O.



28. e foigall A3, 4) T B(k, 6) 1 el det Y@ravs 1 7ea-foig P(x, y) & a1
X +y—10 =02, d k T 74 J1d I |

29. T Gl sl &S FeAl FE 1 1S 10 cm € | I 5 am. ¥ 8 a.m. % sfi<l =gt A 6
Tt @5 g0 Uerd 1 Frsaave =1 &het F1d s | <l Brearaue 1 &het | Fd

i |

30. faghufe 3 o smfmaden? |

31. 2,000 3T GRITRT ML SIS T 7% ST & I ey oh1 78 | Ueed, qHL ST e
Y o 3Td H SATST <hl TUHT SHISTT | AT I8 AT hl TRAT Ueh GHIA gt HiHd sl
& 2 e &, 1 279 9 o 3T=d shi STST shi T 1A HIT |

Qus v

39 @UE H 4 13909 (LA) SFR & T3 8, S8 Idh & 5 3iF & | 4x5=20

32. (F) U AT3EISH & SHI AR 31 &S GHF § I 1 & | ATERTH o MY § 3@ T
T ST STETSI oh 379 hIT ShUST: 60° T 45° © | Ife ST STaTSi o S hl

0 100 (1 J:/g\/gJ m 2, d1 A1E2ET3H sl SHeTs J1d hifsrT |

AT

(@) U TEHISTC] Wad o RN | Toh 8 m Frel Waid o MY qAT SATUR o STTH HI0T
SRUST: 30° AT 45° & | SEHTSIT Hard shT SrelTg ool EIHT el o6 sft=l ot &l 1q
s |

33. (%) I AABA! T ANHA 52 cm? & TUT 3ok TINATAT T 3= 8 cm B | ST
T 3hT YSIT3AT T AaTgal J1d I |

HAAT

30/2/1 # 18| Page
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28.

29.

30.

31.

If the mid-point of the line segment joining the points A(3, 4) and B(k, 6)
is P(x, y) and x + y — 10 = 0, then find the value of k.

The length of the hour hand of a clock is 10 cm. Find the area of the
minor sector swept by the hour hand of the clock between 5 a.m. to 8 a.m.
Also, find the area of the major sector.

Prove that \/§ is an irrational number.

A sum of ¥ 2,000 is invested at 7% per annum simple interest. Calculate
the interests at the end of 15t, 22d and 3'd year. Do these interests form
an AP ? If so, find the interest at the end of the 27" year.

SECTION D

This section has 4 Long Answer (LA) type questions carrying 5 marks each.  4x5=20

32.

33.

(a) Two ships are sailing in the sea on either side of a lighthouse. The
angles of depression to the two ships as observed from the top of
the lighthouse are 60° and 45°, respectively. If the distance

1++3

J3

between the ships is 100 ( j m, then find the height of the

lighthouse.
OR

(b)  The angles of depression of the top and the bottom of an 8 m tall
building from the top of another multistoried building are 30° and
45°, respectively. Find the height of the multistoried building and
the distance between the two buildings.

(a) The sum of the areas of two squares is 52 cm? and difference of
their perimeters is 8 cm. Find the lengths of the sides of the two

squares.

OR

30/2/1
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(@)  Teh oAich UL AT feem H 150 km =T g0 @2 ot 1, =&t gl il o6t fowm o amow
wﬁﬁz% 2 7T @ 2 | AR oE e o SIS @ 10 km/h SR
TTfd & 31T/, a1 Tcdeh fa3mm | SHeh! i Al 9 1 hIfTT |

34. e Torell BIT o6l T 91T oh {HIAT 1= <1 SIS =Rl Tor=1-for fofgat ot e
o foe we v Hii= S, 4 firg Fifor fo 3 31 3 e w & s1ard | fernfor &
STt € | o1d: & TS oTepfa #, g Fifste fR % = %,G@TLMH CB @1
LN||CD®|
B
/M(\
A L C
N
D
35. TIFTRIT STHETAT s o1 ALY AT S8k T hITVIT :
i SRR
0-10 8
10 - 20 7
20 — 30 15
30 — 40 20
40 - 50 12
50 — 60 8
60 — 70 10
30/2/1 # 20| Page
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(b)  The time taken by a person to travel an upward distance of 150 km

was 2% hours more than the time taken in the downward return

journey. If he returned at a speed of 10 km/h more than the speed

while going up, find the speeds in each direction.

34. Prove that a line drawn parallel to one side of a triangle to intersect the
other two sides in distinct points divides the other two sides in the same
ratio. Hence, in the figure given below, prove that 113[1\]/3[ = AN where
LM || CBand LN || CD.

B
M
A L &
N
D
35. Find the Mean and Mode of the following frequency distribution :
Class Frequency
0-10 8
10 -20 7
20 -30 15
30 — 40 20
40 - 50 12
50 — 60 8
60 - 70 10
30/2/1 # 21| Page T P.T.O.



Qs s

T GUE § 3 JH{UT 37 STTYTRA G971 & 90 JAF H 4 HF & | Ix4=12
TeRTUT 37T — 1

36. U Thcl 10 formieit sl Ui SR o fOTT Uk wo WISk {deh ShIishH T TS
FLTET 2 | AT Al gl o foTu, Thel = T §eeiRR § et A R 0

A ST AT TS | T i F1d G Toh Teh Hell T TRt € 50 qT Jeieh HST T
fohrT % 200 2 | Thel A HRAAT 7T WS o FoRIT W et T 30,000 @ fRT | |rer
fortTg oX &t 1€ wat (it ST HSiT) i el 6 300 2 |

——

e Thet o < FREAT qAT y” TSt TR oX A, At FHefcrfiad st o S i

i) s gt i e F o T (Rae gefieor 3w fafaw | 1
(i) () Thel g R X T T HRAT T HSif AT T J1q Hif | 2
HYAT
(@) afe T 300 waT (HFHET R AST) T FHA T 27,000 G BT <A 2,
RIS S IEE KIS RRIERIR S IE AR I RIGEAIS I 2
(i)  Ffe HRAT foRTg o T ft S, 41 % 30,000 H T ox HAferehad feherT #ist <t
ST Hehell & 2 1

30/2/1 # 22| Page By
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SECTION E
This section has 3 case study based questions carrying 4 marks each. 3x4=12

Case Study -1

36. A school is organizing a grand cultural event to show the talent of its
students. To accommodate the guests, the school plans to rent chairs and
tables from a local supplier. It finds that rent for each chair is ¥ 50 and for
each table is T 200. The school spends ¥ 30,000 for renting the chairs and
tables. Also, the total number of items (chairs and tables) rented are 300.

If the school rents ‘X’ chairs and ‘y’ tables, answer the following questions :

(1) Write down the pair of linear equations representing the given
information. 1

(ii) (a) Find the number of chairs and number of tables rented by
the school. 2
OR

(b)  If the school wants to spend a maximum of ¥ 27,000 on
300 items (tables and chairs), then find the number of chairs
and tables it can rent. 2

(111) What is maximum number of tables that can be rented in ¥ 30,000
if no chairs are rented ? 1

30/2/1 # 23| Page T P.T.O.
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37.

ThI0T eI — 2

B T fohehe I o TTT wTrmITedt (GTeh! =) & | 8o T TeF ST H e & i W
10 ¥ 74 de hl G&ATE Jifhd & | &0 89 9 Ugd, 98 39 SR § ° Ueh hre {Hehreld]
2 | Ffe feprer T B W Uk W HeAt sifend @, b A9 S St @ | 3fe ifeRa @
T 8 qAT 5 T ST &, A1 39 Tk ¢ 3l & Sfiqd] ® | I(S I8 T 30 W 7 Tk formm
TEAT ®, A A9 Y IaT O Siiadt & 3R Al I8 AT 50 TUT 74 o s T ST
TEAT e, a1 AW BRAT 2 |

TS TS UEA T I HeATeAdT 2, Al TR Jei o I AT :
() TEA S RTe 71T TS W Tk | ST T 1 TTRIwAT 31 8 2

(i) T g FRT TTT TS W 30 | ¥ Uk Toaw TEAT HTH shi TTRIHAT 1 8 2

(iii) (F) UFA FRT T TT HIE W 50 R 74 o Sl hl Teh ST TAT A
Sl ITRISRAT T 8 2
HAUAT

(@) TEA NI el T 5 | AISY Tk G HE&AT ATAT 1S T o6l TRk
FATE 2
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Case Study - 2

37. Rahul is a lucky charm for his cricket team. He has a jar of cards with
numbers from 10 to 74. Before each match, he draws a card from the jar.
If the card bears an even number, the team wins. If the number is even
and divisible by 5, they win by a big margin. If the number is an odd
number less than 30, they win by a small margin. And if the number is a

prime number between 50 and 74, they lose.

N

Answer the following questions if Rahul draws a card today :

(1) What is the probability that Rahul draws a card with an even
number ? 1

(i1) What is the probability that Rahul draws a card with an odd
number less than 30 ? 1

(iii)) (a) What is the probability that Rahul draws a card with a

prime number between 50 and 74 ? 2
OR
(b)  What is the probability that Rahul draws a card with an
even number divisible by 5 ? 2
30/2/1 # 25| Page T P.T.O.

EEE



Th 0T 3eqT4 - 3

38. U LI 9GS A Uh TAHIT §ohL o [oTT Toh forRier Uit o o hed =t St fopa |
I8 AN § AFE! & d SRR hS! I ITH T M o [T 39 T Sisdm 8 foh
ol oX 21 Bie AR ofi< | Tk ST ZheT &1 & | st i I8 AT U sIga 1=t o

T 39 ST W SIS qAT YRk o foIQ 7eim SA1eT 375 FehR | ST ST |ehal T |

\ \

21 ch O) 7Tcm @ 12-1 cm

<—>5cm l 5 cm —>

«— 12cm —>

AN N

g SRR W (Z69) ol TFITE 12 cm TUT AT 7 cm & STelfh T Bl SA-HR
AT Sl ASTE 5 em AT 2-1 cm B |

3UYh YT o HTER 9, frmforfad st o 3w i
(1) &I AT 9T ohT A 1 hIfSTT |
(i) &S SR T T F5h THIT &%l J1d I |

(i) (%) S IATHR W o AT HT SHI BIS SRR T o Fed AT 8
3FAT T AT |
reraT
(@) T Y BI AATRR 9T o 5k YT &bl 3T ANTheT [1d ShiTTT |
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38.

Case Study -3

A skilled carpenter decided to craft a special rolling pin for the local
baker. He carefully joined three cylindrical pieces of wood — two small
ones on the ends and one larger in the centre to create a perfect tool. The
baker loved the rolling pin, as it rolled out the smoothest dough for
breads and pastries.

() 0 Dzten

<—>5cm l 5 cm —>

— 12 ¢ ———

The length of the bigger cylindrical part is 12 ¢cm and diameter is 7 cm
and the length of each smaller cylindrical part is 5 cm and diameter is
21 cm.

Based on the above information, answer the following questions :

(1) Find the volume of the bigger cylindrical part.

(ii1)  Find the curved surface area of the bigger cylindrical part.

(iii) (a) Find the ratio of the volume of the bigger cylindrical part to

the total volume of the two smaller (identical) cylindrical

parts.
OR

(b) Find the sum of the curved surface areas of the two identical
smaller cylindrical parts.
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